fraction/bin

Ratio to ATLAS

[EEY

0.5

Jets

13000 GeV pp

0.5

T T T TTT | I T TTTT1 | I I T TTTT1 | I I T 11 J_I_I ﬂ
c
L ) 10
L Momentum fraction z(ATLAS jet fragmentation) 3
= 4=
—~  m ATLAS %
 -c-- Pythia 6.428 345 o
| —A— Pythia 6.428 370 15
— Pythia 6.428 ambt1 -
~ - Pythia 6.428 22 2
— —x
B @
B ™
- <
(40
= <
o
— ™
| —
B X
B S,
B N
- (@]
=
T [}
- O
[%)]
B o
— o
| (@]
H— = =
- =2
i e
| 'S
1 1 1 1 11 1 | 1 1 1 1 1 11 1 | 1 1 1 1 1 11 1 | 1 1 1 1 1 11 1 |
107° 1072 1071 1



	Contents
	Page 1


